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— WTIPT D72 TWININT NN
Rather it became fit through the dearness of Koidesh

OVERVIEW

The &n3 explained that the w2 became XMW 22p2 w2 through WP Nan and it
may be able to be Xnun others if we assume that w1pn nan is effective even 1m°nb
WY PWRA 772, Our ModIn explains how we reconcile this assumption (of 7°2 %127
"127) with the ruling that X°172v7 n°2 PPWwn 1s not even Wi,

mooIn asks:
= NV PYNI N2 9199179 NN YTPN NN N YIND ON)

And if you will say; if wipsr nan is effective even to the extent J1R= 5793 S
R -

- 2w PRI 197 NINAVN %2 PPV INNT NI NP3 NN
What relevance is there to this ruling that X3mawn ns2 Ppwn is 9977w and that they
are not d>won?!

MooIN answers:
— YNHPN NN INA TV NDT NP PRINY D937 N1NIY TPIVNINT PNHYS 1329 99IN)

And the °"9 answered that the mipn that X°mav» N2 “pwn is not PWon is
necessary for many things which are brought into the 791v, where w7277 nasn

is not applicable to them -
- Sy23wn HY NATNY NNINA 9IARY 275 *H9TYa PYIRY P9I IN *D391993 115

! oo assumes in his question that the only food that is in the area of ¥°1awn n°a (the 771Y) is w7p. If we assume
that on account of WP nan there is no W37 required for 2°w7p and they can become Xnv and be Xnvn, so even if
XAV N2 PPWwn is not 1"won the o°wp will be IR 2apn regardless and will be &nun others. If wmpn nan would
only be effective for 1nxy nXmw, but would not allow them to be Xnvn others, we understand what was accomplished
by ruling that X°r2v°n N2 PPwn are not WM, for if they would be 7°wan then the 2°w7p would (not only become Xnv,
but they would also) be &nun (which they would not be able to do so if their 78210 n93p was only on account of nan
wTIP), however now that we are entertaining the idea that w75 nan is effective to enable the o*wTp (who were 22pn
axmw [without "woi] because of WP nan) to be Xnvn others, the 7Ipn of 7 Wwon 1KY 197 XAV N2 7PYH is
irrelevant.
? Moo question is [seemingly] only on the ruling of X337 92 01 ' that X°mawn n°2 PPwn is not 1wan (since this
ruling is irrelevant — see previous footnote # 1), however the 71pn that X°mawn N2 Ppwn is 197 and not Rxvy is
certainly relevant that the 2>w7p should not become &1t from the X°172av7 n°2 *pwn (which became Xnw).
3 o172 need to be brought into the 771y for the AX™p (see *-X,10 [X12n *5] 0°127), however 07152 do not have the
status of WP (they are like 7m17n).
* The napn was effective regarding 2>1122 and 7 (which are not in the category of wnpi nan) that they are not
TRMIY 22PY WM from the Rnawv i noa ppwn. See ‘Thinking it over’.
3 The m117p (and M) needed to be eaten yw: ¥ when they were not ravenous, therefore the 0°172 would first eat
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For instance 297153, or regular 797 which is eaten in the 771y in order to eat
the 7man or the 3299 while satiated -

22,80 M) N2 NP NIOINTS
As is mentioned in 7729 Y27 P05,

SUMMARY
The benefit of the 71PN that X°12w 7 N°2 7°Pwn is not W (assuming that WTPH NN
is effective even 0°nR Rnv?) is regarding 121 0°7102 that were (eaten) in the 7.

THINKING IT OVER

Seemingly the reason for ruling that X°12v°» N2 7°Pwn 1s 197 and is not W27, 1S in
order to avoid being 2w7p Xnun. However according to nNvoin that this 7pn is
effective (only) for 1"91,” why make it in the first place?!

121 to satisfy their hunger, and afterwards they would eat the ow7p.
® The X3 there states that even though the P09 (in v,1 [1¥] RIP7) states 1121 IR 129X A NI, from which we
derive that ¥y2%Ww;3 H¥ nNYORI RANW *72 721N P9I IRY 199X, nevertheless 179 13°277° XY DWTPT 1791 9377 170K .
7 See footnote # 4.
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